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(32=3) wastd | ®Wany | S=E | HE
At2k(171/300~3509) 2,336 3,222 886 -27.50%
Hi (17H/650~700g) 3,465 4,384 919 -20.96%
2(171/1kg) 3,186 2,943 243 8.26%
Hi 2=(1 27| /3kg) 7,316 12,756 5,440 -42.65%
CHoH(1 F2/1kg/2H2HA) 3,368 3,193 175 5.48%
20]|37h) 2,723 3,946 1,224 -31.01%
K| 27| (= 4t/ 4 4/6009) 16,610 17,564 954 -5.43%
SET= SE71(10F2] /1kg) 7,714 7,527 187 2.48%
(16E5) A D 7|(=Z /=7 HE LK /1S 40,432 35,692 4,740 13.28%
A 07| (=25 4/60009) 68,996 67,850 1,146 1.69%
= ZH(1E/CH2H/3071) 7,201 7,766 565 -7.28%
Z7|(10t2|/=4H/15cm) 1,428 1,729 302 -17.45%
X (10F2|/=4E/80cm) 8,583 7,903 680 8.60%
1S501(10r2[/=48/30cm) 3,516 3,855 339 -8.79%
HEf(10r2]/2H A|OFLF/40¢m) 4,898 4,851 46 0.96%
QA0 (10r2|/5HS/30cm) 4,787 4,392 394 8.98%
% (20kg) 55,870 55,270 600 1.09%
2|2 = 4/1kg) 3,148 3,248 100 -3.08%
LIt (1kg) 2,399 2,454 55 -2.26%
7tOHS (1kg) 11,746 11,686 60 0.51%
AItF (5 EHE/1kg) 2,087 2,097 10 -0.48%
B (12/300g/4 & 4t +7‘*X1| 1,267 1,251 16 1.27%
MEE M%%(1.8L/+7| 8,521 7,764 757 9.75%
(148 5) Z7t2(1kg/= LHM) 26,823 26,103 720 2.76%
D1|’<~='—(1 kg/=LH4H 10,587 10,687 100 -0.94%
T AH1kg/= L 4 5,763 5,768 5 -0.09%
—*‘erm /5009) 3,209 2,864 345 12.05%
3|22 (L) 1,834 1,893 59 -3.13%
74 S2(1L) 1,847 1,878 31 -1.67%
2(1L) 1,605 1,634 28 -1.73%
~ = AT(1 E'g 36OmQ/_+_DH7.§1) 1,768 1,772 4 -0.23%
rm O 2= (19 500me/A 01 ) 1,883 1,888 5 -0.26%




